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QUESTION 1

A software manufacturer is planning to convert their VDC to laaS. As part of the transformation to laaS the company
realizes they have to make several organizational changes. They have already obtained executive sponsorship and
made all the necessary organizational changes.

Which is the most likely next step in their transformation process?

A. Evaluate technical and relationship skills and perform a gap analysis

B. Build trust in the system so that the lines of business will use the services

C. Cross train operations, development, and test to remove silos and form collaborative teams

D. Reorganize IT as a whole to support laaS.

Correct Answer: A

QUESTION 2

An administrator is configuring resources for a self-service portal. They have just completed grouping their storage
resources into three categories, based on the organization\\'s corporate structure.

Which process did the administrator just complete?
A. Distribution

B. Discovery

C. Grading

D. Pooling

Correct Answer: C

QUESTION 3

Why is the need for host-based agents a disadvantage in a block storage virtualization environment with on-of band
virtualization appliance?

A. Capacity limitations

B. Management complexity
C. Performance concerns
D. Functional limitations

Correct Answer: C
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QUESTION 4

Which represents the contractual agreement between the service provider and the business?
A. Terms of service

B. End-user license agreement

C. Non-binding user contract

D. Service-level agreement

Correct Answer: A

QUESTION 5

An application is designed with reusable modules that can be called by other applications as needed. What is this an
example of?

A. EAIl via Mesh
B. EAI

C. SOA

D. ESB

Correct Answer: C
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